
Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

79

LOAD RUNNERS
Load Rails® and Track Requirements

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/
https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/


Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

80

LOAD RUNNERS
Load Rails - Metric Sizes (mm)

Osborn Load Rails® are made of high-strength 
steel and machined to tight tolerances, then cut 
to length and drilled to customer specifi cations. 
Osborn Load Rails® offer allowable rail loadings 
of up to 317450 N (71500 lbs) per roller. If not 
specifi ed otherwise they are hardened on the 
rolling surface and available in two separate 
hardness ranges, fi nd details below.

Other confi gurations and dimensions, steel
grades, stainless steel types or specials 
according customer drawings are available 
on request. Please contact Osborn for further 
information.

To specify Osborn Load Rails, choose the 
hardness option (letter “L“ for
55-60 HRC; letter “H“ for 38 HRC),
choose the style and size (MTV-1, MTV-
2, MTP-1, etc), add the overall
length in millimetres - XXXX below -,
and add the hole mounting option after
a dash. For length less than 1.000 mm
use a leading zero.

(L/H)-(M/TV/TP/PV)-(1/2)-XXXX-(0/1/2/3)

Example: For rail in carbon steel 55-60
HRC, 1.500 mm length of V track, 75 mm
high (MTV-1) and with hole mounting
option # 1, the part number would read

Osborn
Part No. 

A B C D E F G Mounting

Option #1 Option #2 Option #3

L/H-MTV-1 XXXX 75 40 6 14 27 25,8 20 11 Cap Screw 10 Soc.Hd.Cap Screw 10x1.5 Cap Screw

L/H-MTV-2 XXXX 100 50 6 19 39 37,2 25 13 Cap Screw 12 Soc.Hd.Cap Screw 12x1.75Cap Screw

L/H-MTP-1 XXXX 75 40 6 - 27 - 20 11 Cap Screw 10 Soc.Hd.Cap Screw 10x1.5 Cap Screw

L/H-MTP-2 XXXX 100 50 6 - 39 - 25 13 Cap Screw 12 Soc.Hd.Cap Screw 12x1.75 Cap Screw

L/H-MPV-1 XXXX 38,2 40 - - - 40 - M10 x 1,5 x L.15 Cap Screw

L/H-MPV-2 XXXX 48,2 50 - - - 50 - M12 x 1,75 x L.20 Cap Screw

Mounting: Holes are equally spaced 250 mm apart except for track length over 500 mm, which 
has 3 holes, equally spaced 150 mm apart. For track length less than 500 mm, holes are spaced 100 
mm apart. All holes are spaced evenly from end. Customer specifi ed hole patterns are possible. 
Please contact Osborn with your requirements.

Rails longer than 3000 mm are delivered in length (cut at 90° angle).

Hardness Specifi cation ( L for 55 - 60 HRC, H for 38 HRC)
 Track Style/Size (MTV-1, MTV-2, MTP-1, etc)
  Overall length in mm
   Mounting Option ( 0, 1, 2, or 3)

L  MTV-1  1500  1 

MTV MTP

A

BC

A

F

D
C

E

B

F

90°

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/
https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/


Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

81

Mounting Option #1
Clearance hole for cap
screw

Mounting Option # 2
Clearance hole and 
counterbore for socket 
head cap screw and 
hi-collar lock washer.

Mounting Option # 3
Tapped thru hole for
cap screw

MPV

Osborn Load Rails
are made of 
high-quality steel

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/
https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/


Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

82

Load Rails - Inch Sizes

Maximum 
DESIGN FLEXIBILITY

Osborn Load Rails® are made of high-strength steel and machined to tight tolerances, then cut to 
length and drilled to customer specifi cations. Osborn Load Rails offer allowable rail loadings up to 
71,500 lbs  (317450 N) per roller. 

Osborn Load Rails®

for Maximum Design Flexibility

(800) 720 5248 • rollers@osborn.com • www.loadrunners.com/rails

Osborn Load Rails® are made of high-strength steel and machined to tight tolerances, then cut to length and drilled to customer 
speci�cations. Osborn Load Rails® are hardened on the rolling surface to 60-65 Rc. To determine a part number, specify the pro�le, 
replace “XXXX” with the track length dimension, and add the appropriate mounting option code (see chart). For example - to specify 
a 4" high V-track 28-1/2" long with a clearance hole for a cap screw, the part number is: LRTV-20284-1.  Track length tolerance is ±1/16". 
Osborn Load Rails® o�er allowable rail loadings up to 71,500 lbs  (317450 N) per roller.  Osborn Load Rails® also available in metric.

Track length in 
whole inches

Fractional track length

001 = 1" 0 = 0

002 = 2" 1 = 1/8"

003 = 3"                  2 = 1/4"

004 = 4" 3 = 3/8"                   

005 = 5" 4 = 1/2"

006 = 6" 5 = 5/8"

etc. 6 = 3/4"

7 = 7/8"

X XX X

F
Roller P oint Diameter

F
Rail Po int Dimension

 
Mounting locations are determined 
by matching the roller point 
diameter with the rail point  
dimension. (“F” dimensions on 
roller and rail pages.)

Osborn Load Runners® on Load Rail® Design Recommendations
 Load Rail Profiles

90º

A

B

F ±.005

A

C

B

F ±.005

90º

A

D

C

B

F
±.005

±.005

E

Mounting Options
Mounting holes equally spaced from rail ends on each option.

Mounting 
Option # 1

Clearance hole 
for cap screw. 

 

Mounting 
Option # 2

Clearance hole 
and counterbore 
for socket head 
cap screw and 
hi-collar lock 
washer. 

Mounting  
Option # 3

Tapped thru hole 
for cap screw. 

G G
G

Tapped hole in bottom of rail for HPTV.

LRTV LRTP HPTV

Part No

Measurement in Inches Mounting

Lgth A B C D E F G
"

"

"

" - -

" - -

" - -

" - - - - - -

" - - - - - -

" - - - - - -

**Note: Other con�gurations and dimensions available.

Osborn Load Rails®

for Maximum Design Flexibility

(800) 720 5248 • rollers@osborn.com • www.loadrunners.com/rails

Osborn Load Rails® are made of high-strength steel and machined to tight tolerances, then cut to length and drilled to customer 
speci�cations. Osborn Load Rails® are hardened on the rolling surface to 60-65 Rc. To determine a part number, specify the pro�le, 
replace “XXXX” with the track length dimension, and add the appropriate mounting option code (see chart). For example - to specify 
a 4" high V-track 28-1/2" long with a clearance hole for a cap screw, the part number is: LRTV-20284-1.  Track length tolerance is ±1/16". 
Osborn Load Rails® o�er allowable rail loadings up to 71,500 lbs  (317450 N) per roller.  Osborn Load Rails® also available in metric.

Track length in 
whole inches

Fractional track length

001 = 1" 0 = 0

002 = 2" 1 = 1/8"

003 = 3"                  2 = 1/4"

004 = 4" 3 = 3/8"                   

005 = 5" 4 = 1/2"

006 = 6" 5 = 5/8"

etc. 6 = 3/4"

7 = 7/8"

X XX X

F
Roller P oint Diameter

F
Rail Po int Dimension

 
Mounting locations are determined 
by matching the roller point 
diameter with the rail point  
dimension. (“F” dimensions on 
roller and rail pages.)

Osborn Load Runners® on Load Rail® Design Recommendations
 Load Rail Profiles

90º

A

B

F ±.005

A

C

B

F ±.005

90º

A

D

C

B

F
±.005

±.005

E

Mounting Options
Mounting holes equally spaced from rail ends on each option.

Mounting 
Option # 1

Clearance hole 
for cap screw. 

 

Mounting 
Option # 2

Clearance hole 
and counterbore 
for socket head 
cap screw and 
hi-collar lock 
washer. 

Mounting  
Option # 3

Tapped thru hole 
for cap screw. 

G G
G

Tapped hole in bottom of rail for HPTV.

LRTV LRTP HPTV

Part No

Measurement in Inches Mounting

Lgth A B C D E F G
"

"

"

" - -

" - -

" - -

" - - - - - -

" - - - - - -

" - - - - - -

**Note: Other con�gurations and dimensions available.

Part No

Measurement in Inches Mounting

Lgth A B C D E F G Option 1 Option 2 Option 3
LRTV-4 XXXX 72" 2.0 1.0 0.125 0.375 0.75 0.780 0.500 1/4 Cap Screw 1/4 Soc. Hd. Cap Screw 1/4-20 UNC Cap Screw

LRTV-1 XXXX 144" 3.0 1.5 0.250 0.500 1.00 1.047 0.750 3/8 Cap Screw 3/8 Soc. Hd. Cap Screw 3/8-16 UNC Cap Screw

LRTV-2 XXXX 144" 4.0 2.0 0.250 0.750 1.50 1.562 1.000 1/2 Cap Screw 1/2 Soc. Hd. Cap Screw 1/2-13 UNC Cap Screw

LRTP-4 XXXX 72" 2.0 1.0 0.125 - - 0.780 0.500 1/4 Cap Screw 1/4 Soc. Hd. Cap Screw 1/4-20 UNC Cap Screw

LRTP-1 XXXX 144" 3.0 1.5 0.250 - - 1.047 0.750 3/8 Cap Screw 3/8 Soc. Hd. Cap Screw 3/8-16 UNC Cap Screw

LRTP-2 XXXX 144" 4.0 2.0 0.250 - - 1.562 1.000 1/2 Cap Screw 1/2 Soc. Hd. Cap Screw 1/2-13 UNC Cap Screw

HPTV-4 XXXX 72" 1.0 1.0 - - - 1.030 - - - 1/4-20 UNC Cap Screw

HPTV-1 XXXX 144" 1.5 1.5 - - - 1.547 - - - 3/8-16 UNC Cap Screw

HPTV-2 XXXX 144" 2.0 2.0 - - - 2.062 - - - 1/2-13 UNC Cap Screw

LOAD RUNNERS

1. To determine a part number of the requested Inch Size Load Rail, specify the profi le, replace 
“XXXX” with the track length dimension, and add the appropriate mounting option code (see 
chart). For example:  to specify a 4” high V-track 28-1/2” long with a clearance hole for a cap 
screw, the part number is LRTV-20284-1.

Osborn Load Rails®

for Maximum Design Flexibility

(800) 720 5248 • rollers@osborn.com • www.loadrunners.com/rails

Osborn Load Rails® are made of high-strength steel and machined to tight tolerances, then cut to length and drilled to customer 
speci�cations. Osborn Load Rails® are hardened on the rolling surface to 60-65 Rc. To determine a part number, specify the pro�le, 
replace “XXXX” with the track length dimension, and add the appropriate mounting option code (see chart). For example - to specify 
a 4" high V-track 28-1/2" long with a clearance hole for a cap screw, the part number is: LRTV-20284-1.  Track length tolerance is ±1/16". 
Osborn Load Rails® o�er allowable rail loadings up to 71,500 lbs  (317450 N) per roller.  Osborn Load Rails® also available in metric.

Track length in 
whole inches

Fractional track length

001 = 1" 0 = 0

002 = 2" 1 = 1/8"

003 = 3"                  2 = 1/4"

004 = 4" 3 = 3/8"                   

005 = 5" 4 = 1/2"

006 = 6" 5 = 5/8"

etc. 6 = 3/4"

7 = 7/8"

X XX X

F
Roller P oint Diameter

F
Rail Po int Dimension

 
Mounting locations are determined 
by matching the roller point 
diameter with the rail point  
dimension. (“F” dimensions on 
roller and rail pages.)

Osborn Load Runners® on Load Rail® Design Recommendations
 Load Rail Profiles

90º

A

B

F ±.005

A

C

B

F ±.005

90º

A

D

C

B

F
±.005

±.005

E

Mounting Options
Mounting holes equally spaced from rail ends on each option.

Mounting 
Option # 1

Clearance hole 
for cap screw. 

 

Mounting 
Option # 2

Clearance hole 
and counterbore 
for socket head 
cap screw and 
hi-collar lock 
washer. 

Mounting  
Option # 3

Tapped thru hole 
for cap screw. 

G G
G

Tapped hole in bottom of rail for HPTV.

LRTV LRTP HPTV

Part No

Measurement in Inches Mounting

Lgth A B C D E F G
"

"

"

" - -

" - -

" - -

" - - - - - -

" - - - - - -

" - - - - - -

**Note: Other con�gurations and dimensions available.

Load Rail Profi les

Osborn Load Rails®

for Maximum Design Flexibility

(800) 720 5248 • rollers@osborn.com • www.loadrunners.com/rails

Osborn Load Rails® are made of high-strength steel and machined to tight tolerances, then cut to length and drilled to customer 
speci�cations. Osborn Load Rails® are hardened on the rolling surface to 60-65 Rc. To determine a part number, specify the pro�le, 
replace “XXXX” with the track length dimension, and add the appropriate mounting option code (see chart). For example - to specify 
a 4" high V-track 28-1/2" long with a clearance hole for a cap screw, the part number is: LRTV-20284-1.  Track length tolerance is ±1/16". 
Osborn Load Rails® o�er allowable rail loadings up to 71,500 lbs  (317450 N) per roller.  Osborn Load Rails® also available in metric.

Track length in 
whole inches

Fractional track length

001 = 1" 0 = 0

002 = 2" 1 = 1/8"

003 = 3"                  2 = 1/4"

004 = 4" 3 = 3/8"                   

005 = 5" 4 = 1/2"

006 = 6" 5 = 5/8"

etc. 6 = 3/4"

7 = 7/8"

X XX X

F
Roller P oint Diameter

F
Rail Po int Dimension

 
Mounting locations are determined 
by matching the roller point 
diameter with the rail point  
dimension. (“F” dimensions on 
roller and rail pages.)

Osborn Load Runners® on Load Rail® Design Recommendations
 Load Rail Profiles

90º

A

B

F ±.005

A

C

B

F ±.005

90º

A

D

C

B

F
±.005

±.005

E

Mounting Options
Mounting holes equally spaced from rail ends on each option.

Mounting 
Option # 1

Clearance hole 
for cap screw. 

 

Mounting 
Option # 2

Clearance hole 
and counterbore 
for socket head 
cap screw and 
hi-collar lock 
washer. 

Mounting  
Option # 3

Tapped thru hole 
for cap screw. 

G G
G

Tapped hole in bottom of rail for HPTV.

LRTV LRTP HPTV

Part No

Measurement in Inches Mounting

Lgth A B C D E F G
"

"

"

" - -

" - -

" - -

" - - - - - -

" - - - - - -

" - - - - - -

**Note: Other con�gurations and dimensions available.

Osborn Load Rails®

for Maximum Design Flexibility

(800) 720 5248 • rollers@osborn.com • www.loadrunners.com/rails

Osborn Load Rails® are made of high-strength steel and machined to tight tolerances, then cut to length and drilled to customer 
speci�cations. Osborn Load Rails® are hardened on the rolling surface to 60-65 Rc. To determine a part number, specify the pro�le, 
replace “XXXX” with the track length dimension, and add the appropriate mounting option code (see chart). For example - to specify 
a 4" high V-track 28-1/2" long with a clearance hole for a cap screw, the part number is: LRTV-20284-1.  Track length tolerance is ±1/16". 
Osborn Load Rails® o�er allowable rail loadings up to 71,500 lbs  (317450 N) per roller.  Osborn Load Rails® also available in metric.

Track length in 
whole inches

Fractional track length

001 = 1" 0 = 0

002 = 2" 1 = 1/8"

003 = 3"                  2 = 1/4"

004 = 4" 3 = 3/8"                   

005 = 5" 4 = 1/2"

006 = 6" 5 = 5/8"

etc. 6 = 3/4"

7 = 7/8"

X XX X

F
Roller P oint Diameter

F
Rail Po int Dimension

 
Mounting locations are determined 
by matching the roller point 
diameter with the rail point  
dimension. (“F” dimensions on 
roller and rail pages.)

Osborn Load Runners® on Load Rail® Design Recommendations
 Load Rail Profiles

90º

A

B

F ±.005

A

C

B

F ±.005

90º

A

D

C

B

F
±.005

±.005

E

Mounting Options
Mounting holes equally spaced from rail ends on each option.

Mounting 
Option # 1

Clearance hole 
for cap screw. 

 

Mounting 
Option # 2

Clearance hole 
and counterbore 
for socket head 
cap screw and 
hi-collar lock 
washer. 

Mounting  
Option # 3

Tapped thru hole 
for cap screw. 

G G
G

Tapped hole in bottom of rail for HPTV.

LRTV LRTP HPTV

Part No

Measurement in Inches Mounting

Lgth A B C D E F G
"

"

"

" - -

" - -

" - -

" - - - - - -

" - - - - - -

" - - - - - -

**Note: Other con�gurations and dimensions available.

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/
https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/


Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

83

CUSTOMER DESIGNED
Track Requirements

Track Alignment
Whether using our rail or yours, the track and roller should be aligned so that the roller tread lies 
fl at on the track surface.

     

      

     Track Capacity

TRACK CAPACITY*

TRACK CAPACITY FACTORHPC + HPCA 
PLR + PLRY

HPJ + HPJA
FLR + FLRY

HPV + HPVA
VLR + VLRY

Roller 
Size

Capacity Roller 
Size

Capacity Roller 
Size

Capacity Track 
Hardness 

Rc

Tensile Strength Ca-
pacity 
Factor

3
14,760 LBS.

3
10,500 LBS.

3 1/2
8,100 LBS.

26
120,000 PSI

0.369
65,680 N 44,720 N 36,000 N 8,437 Kg/Cm2

3 1/4
16,000 LBS.

3 1/4
10,900 LBS.

4 1/2
13,200 LBS.

32
140,000 PSI

0.552
71,200 N 48,500 N 58,800 N 9,843 Kg/Cm2

3 1/2
17,225 LBS.

3 1/2
14,200 LBS.

5
15,000 LBS.

36
160,000 PSI

0.755
76,650 N 63,190 N 66,600 N 11,249 Kg/Cm2

4
25,300 LBS.

4
19,000 LBS.

5 1/2
16,700 LBS.

40
180,000 PSI.

1.000
112,580 N 84,550 N 74,400 N 12,655 Kg/Cm2

5
38,650 LBS.

5
29,400 LBS.

6 1/2
20,200 LBS.

44
200,000 PSI

1.235
172,000 N 130,830 N 90,100 N 14,061 Kg/Cm2

6
54,830 LBS.

6
47,730 LBS.

7 1/2
23,800 LBS.

47
220,000 PSI.

1.494
244,000 N 212,400 N 106,000 N 15,467 Kg/Cm2

7
73,810 LBS.

7
60,860 LBS.

8 1/2
27,300 LBS.

50
240,000 PSI.

1.777
328,450 N 270,830 N 121,000 N 16,874 Kg/Cm2

8
95,600 LBS.

8
82,220 LBS.

9 1/2
30,800 LBS.

53
260,000 PSI

1.995
425,400 N 365,880 N 137,000 N 18,280 Kg/Cm2

9
120,200 LBS.

9
105,160 LBS.

10 1/2
34,300 LBS.

56
280,000 PSI

2.209
534,900 N 467,960 N 153,000 N 19,686 Kg/Cm2

10
147,600 LBS.

10
130,900 LBS.

11 1/2
37,900 LBS.

58
300,000 PSI

2.306
656,800 N 582,500 N 168,000 N 21,092 Kg/Cm2

* Radial load only for tracks made of 180,000 PSI steel (Hardness Rc = 40)

V-GROOVED

FLANGED

PLAIN

For steel track of 180,000 PSI tensile strength (Rc=40), refer 
to the track capacity chart to fi nd the track load capacity for 
the style and size of roller to be used. For steel track other 
than 180,000 PSI tensile strength, fi rst refer to the track 
capacity factor chart for the type of steel to be used. Then 
multiply the track capacity for the roller being used by the 
track capacity factor for the steel to be used.

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/
https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/


Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

84

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118

https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/
https://rodavigo.net/productos/?cod_fam=01&cod_prod=002
https://rodavigo.net/

